
E 3338-0309

1
23

4

5

6

78

9

1011

12

13

14

15

16

17

18

19

20

21
22

23

24

25

26

27

28

29

30

31

32

33

34
35

36

37

38



E 3338-0309 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 10016872   31 1 20026542   

2 1 25008016  DIN7603-14x18x1,5 32 1 25008009  DIN7603-30x36x2 

3 1 25030002  DIN908-M14x1,5 33 1 10017050   

4 2 25040033  DIN931-M12x70 34 1 20013296   

5 2 20029004  VSK 12 35 1 25035025  DIN472-J24x1,20 

6 2 25048004  DIN125-A13 36 1 20013297   

7 2 10016877   37 1 25031037  DIN934-M14 

8 2 21000695   38 1 11000649   

9 2 10016876          

10 4 20029011  VSKZ 8        

11 4 25044046  DIN912-M8x55        

12 2 20026546          

13 2 20004061          

14 2 20029004  VSK 12        

15 2 25038042  DIN933-M12x16        

16 1 20013298         

17 1 10016869         

18 1 20013282         

19 1 10016867         

20 1 20013284           

21 1 20013286           

22 1 20029024           

23 1 25031003  DIN934-M8         

24 1 10016870           

25 4 20029007  VSK 6         

26 4 25038003  DIN933-M6x20         

27 1 20020035           

28 1 20016390           

29 1 11000650           

30 1 20008067           

09.11        


